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T4 |FEEARGE R EE I T 5 THRX ERKE
2Nt LA L2 LAV3 221 LAILV5
TEXS T FE 5l A A B Hir | # & 1
HELET = 1
JREI T = 1
PEHI b m3 20
BT =Y 1
AR LY |FH L m3 10
FEHALE T = 1
s [ m3 10
ey L = m3 10
PERE T = 1
TE¥+T = 1
EIR +Hb m3 10
R m3 10
)= ay) T = 1
JEfE= /1) —h|B1=520mm m 12
) BWIL, AJfi1:0.4

7oy |Eat=10cm m2 24
fiiiA=> 27U —h| o ck=18N/mm2 m3 5
HiAZ 7Y —h o ck=18N/mm2 m3 3
AR |RC-40 m3 8
Kb 7 —he=778mm m 11

15/hA 1k
a7 —p (515 1

275/hA Ik
a7 —p 51500 1
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K

2125 FEXY
T4 |FEEARGE R EE I T 5 THRX ERKE
221 2% LAV3 a4 225
TEXS T FE FE B MBI B HAL | B B fid
HEKEEEY) T K 1
E¥+T = 1
EIR +Hb m3 2
R m3 1
HEK T = 1
#70)2—A  |B300-H300 m 9
KB T = 1
oK b 500 X 750 X 750 H 1
ESE T = 1
T AT 7V g K 1
xE FEBRIEAS t=4cm m2 10
RIgAiA M-30
FEEE  |t=10cm m2 10
BEITX—T
B  |RC-40 t=15cm m2 10
S EET N 1
RSy HUEL T N 1
EHSERREIWT  [t=10cm m 13
EYERUE  [t=10cm m2 10
) ) - MEIEY)
kL HEF m3 7
CREBEEL  |#35cm m2 9




2 2 B FE R
2125 FEXY
T4 |FEEARGE R EE I T 5 THXA) |E K E
221 2% LAV3 a4 Z2V%5)
TEXS I Ff Al A A B HAL | B B 5 &
TEMR AL T = 1
BOE R T AT 7Lk m3 1
A= 27U —h m3 7
RSy T AT 7V b t 2 |2.44t
Mo 7 —] t 15 [15.28t
MET = 1
it T = 1
iRl 1:0.4 A 2m2
A HEAS:1:0.3 m2 6 [#& S0 4m2




B B+ T B E R E R

Al B S e HAAL 0 & =
PRAI T
gzl +w m3 22
BT
R+ FIH+ m3 12
FEHALEET
- mh S E +w m3 13

¥ LSy +w m3 13




+ T M B % G ®
TAE
A R T | BERET | gk il
B H1 CBEA) 21.9 - - 21.9
B m moo - - - :
v R, - 8.9 12.5 21.4
e (E) 21.9 8.9 12.5 43.3
B i) - - - -
Lo - - - -
%" EE j:E — — — —
R+ () - - - -
i - _ - -
X B IR
+
Al
i B IR 11.5 - - 11.5
g - - - :
+ .
i L - - - -
- MR - 5.0 10.4 15.4
*IJ Et& HE _ _ _ —
)EH (=]
g - - - :
L4 RS _ - - _
=)
- SERL - - - -
fii %
BGs AL (B) = 43.3 m3
Byl s = - m3
E% ]\ j: - - — — m3
ML D) = 11.5 - -+ 15.4
= 26.9 m3
MALE) = -+ - -+ -
= -  m3
A () = 433 — 26.9 1,090 = 134 m3
AL (Fes) = - = - 1/115 = - m3




+ T HEHEE

i (g
N I I = —

A PHOWE | B OBE | WT o [ P | N7 ORE || W i | 8y | S R i *=

m m 1’1’12 1’1’1Z 1’1’13 1’1’1Z 1’1’12 1’1’13
NO.0-1.5 - - - -
NO.0-0.8 0.7 1.0 0.50 0.4 NO. O i A
NO.0 0.8 1.0 1.00 0.8
NO.1 1.5 1.8 1.40 2.1
NO.2 3.8 1.8 1.80 6.8
NO.3 1.2 2.0 1.90 2.3
NO.4 2.6 2.3 2.15 5.6
NO.5 1.9 0.8 1.55 2.9
NO.5+0.8 0.8 0.8 0.80 0.6 NO. 57 i ]
NO.5+1.7 0.9 - 0.40 0.4

3 14.2 21.9 -
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PR | Al e Bl 1
B A BEOOEE | PR OBE | M7 ofm [ P ¥ | ST RE || W omm | ¥ | N2 FH i
m m m2 m2 J m2 m‘ m:
NO.0 - 0.5 0.25 -
NO.1 1.5 1.2 0.85 1.3
NO.2 3.8 1.2 1.20 4.6
NO.3 1.2 1.2 1.20 1.4
NO.4 2.6 1.2 1.20 3.1
NO.5 1.9 - 0.60 1.1
i 11.0 11.5 -




% B T B ERE R
R - S WO | o= fifi *&
EELT
PRIED i m3 9
HEREL m3 5
2y —b7uy /T
FtfE=y 7Y —h B1=520mm m 12
BWI1
7 ey 78 AFc1:0.4, i 4=10cm | m2 24
A=y Z7)—h o ck=18N/mm2 m3 5
HiAay 7Y —h o ck=18N/mm2 m3 3
HiAMrA RC-40 m3 8
K= ) —h e=778mm m 11
I s/halk= 27—k (&I 1
25/ ikay 7Y —h {5 FT 1




B+ T

% &

35 ®

A | W = -
B R PEOBE | PR OBE | Mot | ¥ [ ST RE || W o | ) | SRR fid
m m m* m* ‘ m* m’ m” | JERE T

NO.0 - 1.0 0.50 - 0.6 0.30 -

NO.1 1.50 0.9 0.95 1.4 0.6 0.60 0.9
NO.1+3.37 3.17 0.5 0.70 2.2 0.3 0.45 1.4
NO.1+3.37 - 1.4 0.95 - 0.7 0.50 -

NO.2 0.63 1.4 1.40 0.9 0.7 0.70 0.4
NO.2+0.17 0.17 1.4 1.40 0.2 0.7 0.70 0.1
NO.2+0.17 - 0.5 0.95 - 0.3 0.50 -

NO.3 1.03 0.8 0.65 0.7 0.4 0.35 0.4

NO.4 2.60 0.7 0.75 2.0 0.4 0.40 1.0

NO.5 1.90 0.9 0.80 1.5 0.4 0.40 0.8

i 11.0 8.9 5.0




A-7uy L EE AE
fr &
UL R Hl A A | Bfr | i E il
= 7Y —h B1=520mm NO.0 ~ NO.5 o m 11.6
K= 7Y —h e=778mm NO.0 ~ NO.5 o m 10.8
18/ Ok 2)—h NO.OfF T A | A 1.0
28 kY —h NO.5fF 3T A | fEAr 1.0
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S
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,u =
™
NIRRT ) —k
o ck=18N/mm2
st EAn sy b ® B ﬁi?*ﬂEAS t=4cm
o ck=18N/mm2 L rERHE  RAMRE M-30 t=10cm
Zgars)—b | TERSE BEEVSvLr—5> RC-40 t=15cm
o ck=18N/mm2
B B W=1.0m
BERERE
SL=y ((H-0.10)"2+((H~0.10) X 0.4)"2) +0.1 X (H-0.40))
. MG Ay A B = B3 N 1) — EL AN
\ (ﬁ”)ﬁ&ﬁ IE:I% ‘ 7f$7 D/77E %1/1:(/7) }‘ Ji\’ﬁ‘i‘;\g
W | oee | (HD) | YER | Py | i || W | Py | SRS || Wi | VR | SORE | (W B
m m m m Hl2 1’1’12 Hl2 1’1’13 Hl2 1’1’12 Hl3
NO.0 - 1.77 1.80 0.90 - 0.18 0.09 - 0.55 0.28 -
NO.0+1.70 1.40 1.92 1.96 1.88 2.6 0.20 0.19 0.3 0.62 0.59 0.8
NO.1 0.20 - - 0.98 0.2 - 0.10 0.1 - 0.31 0.1

NO.1 - - - - - - - - - - -

NO.1+0.2¢  0.20 1.92 1.96 0.98 0.2 0.20 0.10 0.1 0.62 0.31 0.1

NO.1+3.371  3.17 2.18 2.24 2.10 6.7 0.22 0.21 0.7 0.75 0.69 2.2

INO.1+3.37 - 2.78 2.89 1.45 - 0.29 0.15 - 0.75 0.38 -
NO.2 0.63 2.78 2.89 2.89 1.8 0.29 0.29 0.2 0.75 0.75 0.5

NO.2+0.17| 0.17 2.78 2.89 2.89 0.5 0.29 0.29 - 1.08 0.91 0.2

NO.2+0.17 - 2.18 2.24 1.12 - 0.22 0.11 - 0.75 0.38 -

NO.3 1.03 2.15 2.21 2.23 2.3 0.22 0.22 0.2 0.74 0.74 0.8

NO.3+2.60] 2.60 2.08 2.13 2.17 5.6 0.21 0.22 0.6 0.70 0.72 1.9

NO.4 0.20 - - 1.07 0.2 - 0.11 0.1 - 0.35 0.1

NO.4 - - - - - - - - - - -

NO.4+0.20f 0.20 2.08 2.13 1.07 0.2 0.21 0.11 0.1 0.70 0.35 0.1

NO.5 1.80 2.02 2.07 2.10 3.8 0.21 0.21 0.4 0.67 0.69 1.2

i 24.1 2.8 8.0

HiiA= 7Y —h V= 5.3l $¢2.2m3 10m2




FemfEa 7V —bk(B1=520mm)

2

35 ®

300

100 520
720
(10.0m4")
4 S i & K HAL | ¥ & i &
a U —hk o ck=18N/mm2 [(0.30%0.52-0.20%0.42%1/2)%10.0 m3 1.140
i NS (0.10+0.30)%10.0 m2 4.000
RC-40
PA vl t=20cm 0.72%10.0 m2 7.200




KimarZ)—b(e=778mm) ¥ ¥t 5 B &

818
118

(10.0m*4")

4 S A MY WAL | B & fifi *&
SN o0 ck=18N/mm2 [(0.778+0.818)%0.10%1/2%10.0 m3 0.798
i ANV 1(0.10+0.108)%10.0 m2 2.080




1-5/h0 k2 7)—p

OB § B OE

300
—_— T 77— — —%—-
o 2 IS
~ o o
g ~N N
1015
(1.OFEHT4Y)
4 S i & K HAL | ¥ & i &
{(0.778+0.818)%0.10%1/2
a7 —h o ck=18N/mm2 [+(0.818+1.015)%1.970%1/2}%0.30 m3 0.566
{(0.818+0.778)%0.10%1/2
i NEREGSY)  1+(0.818+1.015)%1.97%1/2}%2+2.23%0.3 m2 4.440




25/halka )b ¥ B B B E

300
—_— T 7 —E“
ol & 8
(o} [ap] (9]
m N N
1040
(1.OFEHT4Y)
4 S i & K HAL | ¥ & i &
{(0.778+0.818)%0.10%1/2
a7 —h o ck=18N/mm2 [+(0.818+1.040)%2.22%1/2}%0.30 m3 0.643
{(0.818+0.778)%0.10%1/2
i NRIREEY) |+(0.818+1.040)%2.22%1/2 ) %2+2.500%0.3 m2 5.034




PEKEEM T B E R E R
Tl ] B HAZ % & i &
B+ T
PR AR, b m3
R m3
kT
7Y — 2 B300 X H300 m
EY//, a0
Kt 500 X 750 X 750 M




. i i W
\ WS [ #l IR
Bl S PEOBE | BE OBE [ Wy om | YO St B W om | SE Y[ S R g &
2 2 3| 2 2 3
m m m m m m m
NO.0 - - - - - - -
NO.1 1.5 - - - - - -
NO.2 3.8 - - - - - -
NO.2 - - - - 0.2 0.10 - |k
NO.3 1.2 0.3 0.15 0.2 0.1 0.15 0.2 |/kp&
NO.4 2.6 0.3 0.30 0.8 0.1 0.10 0.3 kg
NO.5 1.9 0.3 0.30 0.6 0.1 0.10 0.2 |/kp&
g 11.0 1.6 0.7




BekEEYW LT E R A E
fr &
M5 O i A | Bfr | i E il
72— B300 X H300 NO.1+2.3 ~ NO.5 /e m 9.0
2Bkt NO.2fF 3t /e i 1.0




A7 22— A

OB § B OE

300

300

30

0 ()

100

100 ‘ 240 ‘ 100

440
(10.0m4")
4 S i & K HAL | ¥ & i &
T 2— A B300-H300 [10/2.0 N 5.000
LA L 1:3 0.240%0.03%10.0 m3 0.072
RC-40
PA vl t=10cm 0.440%10 m2 4.400




Eokpt OB B H

=

900

150 750

300

2882 (3t 5E) i- ____-i 5l
| |
. | | 3
8 \J@ ! 2
o B - ] i
A alzoee) =
= rXXXX) \ 150 500 150
50 800 50
900
450
540
54 440
490
(1.0H: %Y
£ Fr B i & K B & i &
(0.900+0.540)%1/2%0.900%0.800—
(0.750+0.450)%1/2%0.750%0.500~
a2 7U—h o ck=18N/mm2 [0.300%0.300%0.150—0.358%0.600%0.150 m3 0.248
(0.900+0.540) % 1/20.900 X 2+0.800 X
0.900+(0.750+0.450) X 1,/2 X 0.900 X 2+0.500
X 0.900+(0.300+0.600) X 0.150 X 2—(0.300 X
iR IR S 0.300 X 24+0.358 X 0.600 X 2) m2 3.421
RC-40
LA t=15cm 0.49%0.90 m2 0.441




SHEE T

B E &

i R

Al MBI S e HAAL 0 & =
T AT 7 )V e T
#Eg FHAEZRIEAs t=4cm m2 10
B B B4 M—30 t=10cm m2 10
BHAEIT—T
T A RC-40 t=15cm m2 10




B O3 T

% &

35 ®

#J& (t=5cm)

)& B (t=15cm)

SR | w1
B A BEOEE | BROBE e ¥ | iE e ¥ | iE i
m m m m rn2 m m rn2
NO.0 0.25] 0.130 - 0.25] 0.130
NO.1 1.50 1.00 | 0.625 0.9 1.00 | 0.625 0.9
NO.2 3.80 1.00 | 1.000 3.8 1.00 | 1.000 3.8
NO.3 1.20 1.00 | 1.000 1.2 1.00 | 1.000 1.2
NO.4 2.60 1.00 | 1.000 2.6 1.00 | 1.000 2.6
NO.5 1.90 - 0.500 1.0 - 0.500 1.0
i 11.00 - 9.5 9.5




B O3 T

% &

) B (t=15cm)

SR | w1
B A BEOEE | BROBE e ¥ | iE e ¥ | iE i
m m m m rn2 m m rn2
NO.0 - 0.28 | 0.140 -
NO.1 1.50 1.03 |  0.655 1.0
NO.2 3.80 1.03 1.030 3.9
NO.3 1.20 1.03 1.030 1.2
NO.4 2.60 1.03 1.030 2.7
NO.5 1.90 - 0.515 1.0
i 11.00 - 9.8




HBEYEET

% &

/A
NEN

i R

1]

Bl Bl % HAL | ¥ & i &
HEEYIIEL T
2 IR T T t=10cm m 13
IEier t=10cm m2 10
gy ) — MRS IREEL | BEf m3 7
AR U £35cm m2 9
S AL T

1 il TAZ 7V m3 1
= 7)—h m3 7

ALy T AT 7k t 2 |2.44t

M=y ) —h t 15 [15.28t




HEYRETL H B £

it &R

Sp EHIEARY) | AR EL
] - Hk ColuEL | Stk s Wr L PN
@ @ ©) @
Cotisy M 5 | m3 6.5 6.5
TEL | o | m3 -
Ao #f FE | m2 9.4 9.4
BHEL | e g | mo ~
Gl o -
o As m 12.5 12.5
Gy 002 -
file As m2 10.4 10.4
i %
CotiTuEL (JfH) = 6.5 m3
Coffi&E gL (B6F) = - m3
FAFEBUEL (k) = 9.4 m2
AFEEUEL (Z2R) = - m2
SRR LI (Co) = - m
EHIERRGINT (AS) = 125 m
SEERRARA: (Co) = - m2 X - = - m3
SRS (AS) = 10.4 m2 0.10 X 104 = 1.0 m3
O - A5y (R Co) = 6.5 + - = 6.5 m3
2.35 X 6.5 = 15.28 t
BOEM - 5y (BCo) = - m3 2.50 X - = -t
X IE - ALy (As) = 1.0 m3 2.35 X 1.0 = 244  t




HEEMMET - M

‘ L)} (S
WA | #EIE = (JHEf77)

A PHOWE | B OBE | WT o [ P | N7 ORE || W i | 8y | S R i *=

m m m” m” m’ m” m” m’|BERE 7 0y s
NO.1 - 0.87 0.44 -
NO.2 3.80 0.86 0.87 3.3
NO.3 1.20 0.85 0.86 1.0
NO.4 2.60 0.84 0.85 2.2




BIEYBUEL T - M

e
MW | MOE 2

A BB | BB A} R I T

2

A} R I T i *=

m m m m m m m m
NO.0 - 0.70 0.35
NO.1 1.50 1.27 0.99 1.5
NO.2 3.80 0.90 1.09 4.1
NO.3 1.20 0.86 0.88 1.1
NO.4 2.60 0.84 0.85 2.2
NO.5 1.90 0.78 0.81 1.5

3 11.00 - 10.4 -




E%

=

hY: =4
BERETL & E
fr &
AH 1 Hl & B fik | HAr ) e K i %
Sl IR O t=10cm NO.0 ~ NO.5 y&l m 12.5 ]0.68+11.0+0.81
27.40, /fw 3185-7
Y - Mz\g o ‘
— 0872 7817

J .20, 12‘% “’F.'“\ o 2046

B N ey
30.50- RS 30.74 E - ¢~ 30.96
—— \
11.00




BIEYBUEL T

% &

s | W e
R dHOME | B OEE [ RS a2 I T e a2 I T fii &
m m m m m2 m m m2

NO.0-1.5 - - - -
NO.0-0.5 1.00 1.80

NO.0 0.50 1.80 0.90 0.5

NO.1 1.50 1.75 1.78 2.7

NO.4 - 190 0.95 -

NO.5 1.90 2.13 2.02 3.8
NO.5+0.5 0.50 213] 2.3 11
NO.5+1.7 1.20 - 1.07 1.3

i 5.60 - 9.4 -




¥ T ¥} E R E X
Al B S e HAAL 0 & =
Huft T
SR 1:0.4, F& S
A 1:0.3 m2 T KR




R A T - M

A BB | BB A} R I T

2

A} R I T i *=

m m m m m m m m
NO.0-1.5 - - - -
NO.0-0.5 1.0 2.23 1.12 1.1 BER1:0. 42
NO.0 0.5 2.23 2.23 1.1
[Nl 2.2
NO.5 - - - -
BE#%1:0.2~0.3
NO.5+0.5 0.5 2.42 1.21 0.6 Afic (1:0.3) 2F E
NO.5+1.7 1.2 2.42 2.42 2.9
F& A 3.5

it 3.2 5.7




